S,
’// FAQFoA 1t 85
? IV:Fo 1Fol 33y VF auidd)le>

2313 s ST oBLSIS Guud)y (520lyeb (g3ge damw
Lo ygaiaS o 3 o1 slisls calad

D13 s L HgdiS Po iy dlT o8l (gloasly cadled 11T oBaiils (b,

oIS1S byt ligzabily (SiBgel (il CbldgSh cpaal i )3 ST 61 udy 520Ieb (5300 Jam0 (gu (Ep ol S @
0Llgz g (oMl ST sl i gl yiols 4 Sups oye b rewdSadi )15 (555 p0 ¢lped 3mlg 15T 6BULisls )3 jgpel yebbjlamy a5 LoVl 15T
)95 )31 aejym I Llg2 9 09> liwgd Cuosd Sl pé)e L @lhe Jol pllga uodd Sopi g el yé)e b (lwdldl (puojyw Jol
0blg2 4 SopS oy L bl gaejyw Ulga Ceosd Sl pé)e L (ol Caoglin )Ld (Ulg2 ) Sl 9 W3l g plw oye b gy
0S92 llg= 4 S 08y 9 Xy9lse L) 2 1) G H9S> 4z &S LSz B «@iS)5 )9S I pligje CrodS> S oy b linsSh

ISl @ ayls )l (Sad aygm j9iS Glolds (aojpw o @yl el Cunl IpazdIE)l gaz )3 &5 (5)9dS (a3l )3 1S (g9
2Bl ledly @95 50 S Ml plez phSals aSud 4 1) pligje Lad 3959 Lol (auiS Ly 1) oz ol ol ST oBisls JuamiIE )l Aboo
So b0 03) (g3 ale B> gue Jlw Boo il sagen 1) ol (6312 (5i9) Bhde (5> U o) aud I &S @yl GleS e 4 Lo
o TlaS Jol of Sy puSgue @Se 9 plid hal luwdlesl 4 Jlad jl )50 &Sy )6 b jl Bioe (5389 o9 Lo )b jl 4l

e oMol lgs Jiadsls g3 axiaS se

plol (oMl QB Hlaze Cawd @ uojpw o2l )3 &5 €l b g 139 (Hlez @le lanlw (lailasadsly a5 ayls HI5ssl Lo 13l daldl =Sleb
51 Oblalue dad gl @ pbl a5 Gobl )3 s ¢l > @yld HEBdl . cunl cuwiSp Jlo ) Giligyle uojyw a1 yge 6)Lgd i (i) (8)) Suas
q2lodol @o 3,5 «uwnl ple @& H9mo )l A5 Hgme SO Jgo Wigy 0 ASe W hlez juwliw

qaming 3 )30 (155 @lgs oo Lo .auib yols ale laelw )3 (Hlgz 10 650l )5 auiuwslys &S ay)ls sl :cuisly bl ST ool Guad)
KB gel G H9iS o 53 Canl ¢yl ST 6uisls HLas8l jgyel j1 . oLT @uS ye0 @ 1) (ings (SLd g ye0 4 @ud @ Cuwd )d Cawd @udlgs (0
AL ol eadly aSuis @Suis ol a5 il (glaSuis 3T L Wlgse a5 3)ls



